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Read the fnllowing instructions carefully and do accordingly. (ﬁﬁﬁﬁﬁ ﬁrﬁﬁgﬂ‘éﬁﬂm |\ mm ;FrN)
i) Group-A contains 22 questions- with 44 marks and Group-B confains 4 questions with 16 marks

(Rt 22 @ 44 7 e <RI 4% v 16 7 TR

ii) All the questions are compulsory (7% T Tae T WERTS)

iii) Write the answer of each question in the specified space (ﬁﬁﬁﬁt‘!ﬁ Teq ﬁﬁ'ﬁtﬂ Ad)

iv) Papers of rough work are to be attached with answer sheet (1% sl Te ATa AT gy we)

Group - A (2x22=44 Marks) ¥t (R x 33= 88 %)

1. Fillin the gaps (FUZR 34 %9) 8 G - il 2x10=20
i) 1billion = sati oo million: 5 et
S RPER = ——a AR o o e
ii) The product of a fraction and i@féﬁpmcakis;:&:e:; 520 i
D S TR R SCAITICRS] GO Ff oo
iii) The perimeter of amctanglelsMcm Ifthe length of the rectangle EQOmLthenltsirea,thwﬂlbc
G TR AR b8 G | T ST 0 Qomﬁiﬂ@ﬂmﬂm e

iv) 100x(1- )=90

SOy =~ )=3%0
v) At 50’ clock the angle between the hour hand and the minute handi is
mww%ﬁﬁwmaﬁtmﬁﬁmwﬁm mmvrﬁmﬁia

m 791sexpmscdas i i

Cﬁtﬂﬂﬁmmqbﬁmﬁ . -
vii) 2metres30cennmeu‘e§— SR ' -, k declmﬂtm <
& fifota wo GFBHRBI = - - (ORI |

viii) The difference between 3334nd 3’.3315

©9.0 T8 9,99 §F TG T ===~

ix) The L.C.M of the prime numbers lying between 1 and 10is : : \
amuomﬂwmﬁz@cﬁﬁﬂww@mﬁameﬁ -
x) If 20% ofa munber is 24, then 120% of thi same number is :
it B TRY 0% 38 T, SRCA G_ﬁﬁwﬁa $30% TF ~————--=—=—"
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Each of the !hl]awing questions has four alternative answers, among which only one is correct, Underline
the correct ngthl:l. — mark will be deducted for each wrong answer.

ﬁmaﬁﬁmw@mﬁwm mmmmmﬂmmmmﬁamﬁmmmf
uﬁﬁwmﬂ_mmml

2. E}mymmﬁ‘mmmlmu '13-5. £ and 2 s ; 2x12=24
g% i w_ﬂmqmwmm-
L, o,

A 3 f::} ap(®) - ot G D. 3 G'}
i) The number which isdivisibleby 2, 4, 5 and § is
3, 8, a'¢ v e = — _
A 568120 (tuvriyo) B. 586210 (evru3io)
C. 658102 (wawryoy) . - D.856012 (waeeyy)
iiii) The symbol w]nnh]mmﬂu&l;damdmhmuminthumﬂou
1 ol 7@« om0 FoACE e et g R e T —

A @ B. 1> C.» D.$
Hiﬁmumhunpmimeterﬂkm.mmufuwsqwels
o ol RN e 1R T, Yo ow
A. 441 sq. em (88 Tfcaf) B. 484 5q. cm (88 TSN
C. 576 sq. cm ( ¢4 2 D. 7056 sq. em ( S0zt 35f=fE)

¥) I 8x6+30(_") 543 =42, then the correct symbol in the blank space is
i bx b +oo Q’}f.— 8.X.© = 83 2, W e Boye Bel e —

AL+ Y AR 'ul,iiﬂq L TEE T BB AR D, +
vi) £ of aday s ' '

A, 750 minutes (98o, D) . L e B. £00 minutes (roo ffds)

C. ﬂﬂﬂminuﬁga_{hﬂﬂﬁﬁ'ﬁj 0. -Iﬂﬂﬂ‘.m'rnutea{wonﬁfﬁm

vif) If & banana weighs 0,423 gram, then the weigh of 5 dozen banana will be
uﬁmwmn 80 HI% T BIETN ¢ TR AT O [ —

:sammz’uwnm; B 25.308 gram ( 42,90 &1 )
C. 25.480 gram (Seovouty) © F 0 D) 261540 ram (te.¢80 &)
vili) In the adjacent figure, the triangle FLY is a : -
s o FOY Rrge® wafb— :
e 5 : . . F T
A. Right-ahgled trianglé (e firgen) B. Obtuselangled triangle (g firge)
€. Acutesangled trizngle (v figw) IEll:.'. None of these, (aaTefs m“im
ix costprice st wis
w%’qﬂm mt '§Hmw#m§mwm—
ESJIB{N}D i B T'S315 (wosa D)
c. !Slzﬂ[Mo'ﬂM'} g2 D. ¥ 5515 (#454 bt )
x) [fthe length of the mmmr*n circle is 7em then its radius is '
it w08 7 4 R et Bt gt T —
ATem(acift)y B. l4cm (28 ¢f)
casem(sect) . ~ Djamgect)
xi) 70+5+% + I&, : :
90 + & + 1 " = .
A. 75-:12!{ \tn.m B, 705,28 (n0g.4¥)
C. 75.208 (4¢.30%) D. 7528 (A.4¥)
xif) Four decades afler 2018 will be : .
K05 @ SRR s D rE e @™ — o
A. 2050 (80@0) /s 1k Abscet hriw o s B. 2058 (100¥)

C. 2022 (204%) D. 2028 (10a¥)



Group - B (16 marks) "' faeist (& 553)

0.1 0.02+02 X02

Simplify :
8 mpl}fj’ 0.3 x 0.05x D0z 2
- 83X o0y +o.4 o3
bk ik om X 008 X 0.0%
b) Find the value of 5 yoanBERIRINE 3
} (_B - ; G’ 3 2
-
: ¢ ) <A 3 )
am ffawas Qﬁ? - m'ﬁ.’)_ 1\:? - ﬂ.?.;
] P ST, 2 : -
) = % e wEe =

4. Thestep by step solution of a problem is given below. State the problem in minimum number of words. 4

o i T SRR retef Brerd <al T | RN T W aEle w0 w396 3

Monthly income of Sambit = 8400
His monthly house rent =4 th part of 78400
=T 840
and monthly other expenditure = -+ th part of T 8400
=76720
. Total expenditure = T (840 + 6720)
= 27560
Hence monthly savings of Sambit =3 (8400 —7560)
= 7840
" T

Afarss IF= o = vacc B9

mmﬁ#aﬁ'@izvaonmﬂ%w
= 3o B

mwﬁﬁmm-mmfmﬂ%w
= &q30 bR

.. S 495 = (w80 +®330) TRt = aevo BRI

W HETSR WO A = (r8oo ~ qeto) B
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5. [f the area of the square PQRS is 625 sq. cm then find the sum of the 3 S R
perimeters of one small square and the square PQRS.

o PQRS =frwcas cwrast v 7o i 20 53 < b ot
@ PQRS stz =i catres Ry =01 4

6. Drmxﬁn:mtﬁﬂuﬂmgtblmﬂnmwithhmmm:cmu&mmﬁw 4 cm and again with B
as centre draw another circle of radius 5 cm. Name the pointsas X and Y where the circles meet with the line AB.
Measure the length XY . i

v ot AT ol Gt AB T ¥4 | A B GR F 8 GifR Pees @l 78 % B (3 (R A ¢ ¢
P WIER 78 A | 8 46 AB e o1 off RS o FE ST X, Y W e XY a3 76
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